HOWTO1e    (by Joe Erdeky, erdeky@inbox.com)   

This Program gives the step by step details of how to, by hand, 1. Shade a linear inequality, like Ax + By  < C, without using a test point.  2. Graph equations of the form Ax + By = C, Ax + By = 0, Ax = C, and By = C.                                                                               
==================================================================================================
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Below are some examples.
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--------------------------------------------------------------------------------------------------------------------------------------------------------------

Other programs by this author are at 

http://www.ticalc.org/archives/files/authors/109/10933.html
----------------------------------------------------------------------------------------------------------------------------------------------------------------
















































